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The angles of a quadrilateral HIJK are in the ratio 7 : 28 : 29 : 56. Find the measure of each angle of the
quadrilateral.

(i) H=23°,1=83°,]=85°,K=169° (ii) H=19°,1=86°,]=86°,K=169° (iii) H=22°,1=83°,]=89°,K=166°

(iv) H=21°,1=84°,)=87°,K=168° (v) H=20°,1=82°)=88°,K=170°

2. Two adjacent angles of a parallelogram OPQR are in the ratio 2 : 4. Find the measure of each of its angles.
(i) 0=62°,P=119°,Q=58°,R=121° (ii) O=60°,P=120°,Q=60°,R=120°

(iii) O0=59°,P=118°,Q=61°,R=122° (iv) O=58°,P=122°,Q=59°,R=121°

(v) 0=61°,P=119°,Q=62°,R=118°

In the adjoining figure, EFGHis a parallelogram in which

LHEG = 23.22°, LGEF = 27.17°, LHIG = 79.17°. Calculate LEFH
H G

E F

(i) 75.66° (ii) 73.66° (iii) 72.66° (iv) 74.66° (v) 71.66°

In the adjoining figure, NOPQis a parallelogram in which
" LQNP = 39.62°, ZPNO = 18.43°, LQRP = 130.79°. Calculate LPQO
Q P

N o

(i) 30.78° (ii) 28.78° (iii) 29.78° (iv) 32.78° (v) 31.78°

In the adjoining figure, MNOPis a parallelogram in which
" LPMO = 60.65°, ZOMN = 31.06°, ZPQO = 119.07°. Calculate ZNOM
P 0

M N

(i) 58.65° (ii) 60.65° (iii) 62.65° (iv) 59.65° (v) 61.65°



In the adjoining figure, ABCDis a parallelogram in which

" LDAC = 26.33°, LCAB = 21.16°, LDEC = 105.71°. Calculate ZDBC

7.

10.

11.

12.

13.

D c

A B

(iy 77.38° (ii) 79.38° (iii) 81.38° (iv) 78.38° (v) 80.38°

In the adjoining figure, CDEFis a rectangle.If ZECD = 40.36°, find LFGE
F E

0.36°

c (B

(i) 100.28° (ii) 99.28° (iii) 101.28° (iv) 98.28° (v) 97.28°

Three angles of quadrilateral measure 50.87°, 92.2° and 122.88° respectively. Find the measure of the fourth
angle

(i) 95.05° (ii) 94.05° (iii) 96.05° (iv) 92.05° (v) 93.05°

Three angles of a quadrilateral are equal and the fourth angle measure 100.98°. What is the measure of each of
the equal angles?

(i) 88.34° (ii) 84.34° (iii) 85.34° (iv) 86.34° (v) 87.34°

Two angles of a quadrilateral are of measure 43.28° and 123.15° respectively and the other two angles are
equal. Find the measure of each of the equal angles.

(i) 95.78° (ii) 96.78° (iii) 97.78° (iv) 98.78° (v) 94.78°

A quadrilateral has three acute angles, each measuring 58°. What is the measure of its fourth angle?

(i) 188.00° (ii) 186.00° (iii) 184.00° (iv) 185.00° (v) 187.00°

One angle of a parallelogram measuresF=47.91°.
Find the measure of each of its remaining angles.

(i) G=130.09°,H=45.91°,1=130.09° (ii) G=134.09°,H=49.91°,1=134.09°
(iii) G=131.09°,H=46.91°,1=131.09° (iv) G=133.09°,H=48.91°,1=133.09°

(v) G=132.09°,H=47.91°,1=132.09°

Two adjacent angles of a parallelogram are in the ratio7 : 53.
Find the measure of each of its angles.

(i) A=23°,B=158°,C=19°,D=160° (ii) A=20°,B=157°,C=22°,D=161°
(iii) A=21°,B=159°,C=21°,D=159° (iv) A=19°,B=161°,C=20°,D=160°

(v) A=22°,B=158°,C=23°,D=157°



14. In the figure given below, ABCDis a rectangle.Find the values of x and y
D C

327"

A B
(i) x=46.74°,y=93.48° (ii) x=45.74°,y=92.48° (iii) x=44.74°,y=91.48°

(v) x=47.74°,y=94.48°

15. In the figure given below, GHIJis a rectangle.Find the values of x and y
] I
lyn

L){°

1159.08°

G H
(i) x=59.54°,y=30.46° (ii) x=58.54°,y=29.46° (iii) x=57.54°,y=28.46°

(v) x=60.54°,y=31.46°

16. In the figure given below, EFGHis a rhombus.Find the values of x and y

H G
e
/:{n
%DBM
£
E F

(i) x=17.54°,y=17.54° (ii) x=19.54°,y=19.54° (iii) x=21.54°,y=21.54°

(v) x=18.54°,y=18.54°

17. In the figure given below, BCDEis a rhombus.Find the values of x and y
E D

(i) x=40.95°,y=40.95° (ii) x=44.95°,y=44.95° (iii) x=41.95°,y=41.95°

(v) x=43.95°,y=43.95°

(iv) x=48.74°,y=95.48°

(iv) x=61.54°,y=32.46°

(iv) x=20.54°,y=20.54°

(iv) x=42.95°,y=42.95°



18. In the figure given below, CDEFis a rhombus. Find the values of x and y

F E
xﬂ

(i) x=34.8°,y=57.2° (ii) x=31.8°,y=54.2° (iii) x=32.8°,y=55.2° (iv) x=35.8°,y=58.2°

(v) x=33.8°,y=56.2°

19. One of the diagonals of a rhombus is equal to one of its sides. Find the angles of the rhombus
F E

C D
(i) C=62°,D=119°,E=58°,F=121° (ii) C=60°,D=120°,E=60°,F=120°
(iii) C=58°,b=122°,E=59°,F=121° (iv) C=59°,D=118°,E=61°,F=122°

(v) C=61°,D=119°,E=62°,F=118°

In the adjoining figure, KLMN s a trapezium in which KL | MN .

20.
If x =64.46°and y = 73.3°,find the measures of ZMand £N.
N M
i y®
>
K L

(i) M=106.7°,N=115.54° (ii) M=107.7°,N=116.54° (iii)) M=104.7°,N=113.54°

(iv) M=108.7°,N=117.54° (v) M=105.7°,N=114.54°



In the adjoining figure, ABCDis a kite in whichAB=DA,BC=CD
21. and the diagonals BD and AC intersect at O.
If LOCD = 51.34° and LABO = 56.93°, find the measure of each of the angles marked a,b,c,d and e.

c
51,3457 _eb
o O [
pi T ¢~ B
ce '56.93°
bﬂ
A

(i) a=38.66°,b=234.07°,c=>55.93°,d=40.66°, e = 49.34°

(ii) a=38.66°,b =34.07°,c =56.93°,d =38.66°, e =51.34°

(iii) a =38.66°,b =33.07°,c =56.93°,d =38.66°,e =51.34°

(iv) a=38.66°,b =34.07°,c=>55.93°,d=38.66°,e =51.34°

(v) a=38.66°,b=34.07°,c=55.93°,d=40.66°, e =51.34°

In the adjoining figure, side I) of parallelogram HIJK has been produced to L. If ZKJL = 107.45° , find the measure

" of each angle of the parallelogram.
L

107.45°

W

H I
(i) H=73.55°,1=106.45°,)=74.55°,K=105.45° (ii) H=71.55°,1=105.45°,)=73.55°,K=109.45°
(iii) H=72.55°,1=107.45°,]=72.55°,K=107.45° (iv) H=70.55°,1=109.45°,]=71.55°,K=108.45°

(v) H=74.55°,1=106.45°,]=70.55°,K=108.45°



In the adjoining figure, PQRSis a parallelogram andTUis such that TU | PR

23.
If LPST = 30.96°and £ZRSU = 25.18°, find the measure of ZRSP.
u
§ _v2518° R
-
30.96°
T
-
P Q

(i) 124.86° (ii) 125.86° (iii) 121.86° (iv) 122.86° (v) 123.86°

In the adjoining figure, LMNO is a square. A line segment OQ cuts the side MN at Q and the diagonal LN at P such
" that LOPN = 99.87° and ZPQN = x°. Find the value of x .

Q N
g_n
P
%0
Q
L M

(i) 54.87° (ii) 56.87° (iii) 53.87° (iv) 52.87° (v) 55.87°

In the adjoining figure, HIJK is a rhombus and ALK] is an equilateral triangle. L and | are on opposite sides of JK. If
LKHI = 80.82°, find the values of x and vy.
L

25.

(i) x=32°,y=21.59° (ii) x=30°,y=19.59° (iii) x=31°,y=20.59° (iv) x=28°,y=17.59°

(v) x=29°,y=18.59°



26. In the adjoining figure, equilateral ADCE surmounts square ABCD. If CEA = x°, find the value of x.
E

xﬂ

(i) 46° (ii) 45° (iii) 47° (iv) 44° (v) 43°

In the adjoining figure, ABCDis a rhombus whose diagonals intersect atO.
" IfLOAB:ZABO=1:2,find the angles of AOAB.
D C

A B
(i) 0=90°,A=30°,B=60° (ii) O=88°,A=32°,B=60° (iii)j O=88°,A=30°,B=62° (iv) 0=90°,A=28°,B=62°

(v) 0=92°,A=30°,B=58°

In the given figure, EFGHis a rectangle whose diagonals intersect atl.

28.
Diagonal EGis produced toTand ZFET =127.41°. Find the angles of AIGH.
H | G
I
|
[
127.41° F

T

(i) 1=74.82°,G=52.59°,H=52.59° (ii) 1=74.82°,G=50.59°,H=54.59° (iii) 1=72.82°,G=54.59°,H=52.59°

(iv) 1=76.82°,6G=52.59°,H=50.59° (v) 1=72.82°,G=52.59°,H=54.59°



In the given figure, IJKLis a kite whose diagonals intersect atM.
If £LI) = 51.54°and £JKL = 43.16°, calculate ZMLIand £LMJK.
K

29.

(i) x=62.23°,y=66.42° (ii) x=64.23°,y=68.42° (iii) x=66.23°,y=70.42°

(v) x=63.23°,y=67.42°

AHEFis an equilateral triangle in a square DEFG.

30.
IfDFandHE intersect atl, then find the value of x.
G F
H
1) x°
D E

(i) 74° (i) 75° (iii) 77° (iv) 73° (v) 76°

In the adjoining figure, His a point in the interior of £)JFK.
If HGL1FJandHILFKand £JFK = 31°,find the measure of x .
K

31.

/\/31“

F G J

(i) 210° (i) 209° (iii) 212° (iv) 213° (v) 211°

32. The measures of three angles of a quadrilateral are85.46°,100.05°and 66.42°
(i) 138.07° (ii) 123.07° (iii) 113.07° (iv) 108.07° (v) 118.07°

33. Sum of the interior angles in a quadrilateral is

(i) 375° (ii) 370° (iii) 360° (iv) 365° (v) 390°

(iv) x=65.23°,y=69.42°

. Find the fourth angle



34. How many diagonals does a quadrilateral have?

(i) 1 (i) O (iii) 3 (iv) 4 (v) 2

35. Find the missing angle in the given quadrilateral

L K

125.94°

126.33°

| J
(i) 60.99° (ii) 65.99° (iii) 85.99° (iv) 55.99° (v) 70.99°

36. Find the missing angle in the given trapezium

F E
pe  100.77°
60.6?0 79.230
c D

(i) 124.33° (ii) 119.33° (iii) 129.33° (iv) 149.33° (v) 134.33°

37. Find the missing angle in the given parallelogram

E D
59.31°
Dﬂ
120.69°
59.31°
B c

(i) 150.69° (ii) 130.69° (iii) 135.69° (iv) 125.69° (v) 120.69°

38. Find the missing angle in the given rhombus

K J
[+]
11611° &
e 11611°

H I

(i) 93.89° (ii) 73.89° (iii) 63.89° (iv) 68.89° (v) 78.89°



In the given figure, DEFG is a parallelogram.
" IfDRandERare bisector of ZD& LE, find LR
G F

D E

(i) 89° (ii) 91° (iii)) 90° (iv) 92° (v) 88°

In the given figure, ABCD is a parallelogram. P is the mid-point of CD.

" BPbisects ZB. If x =52°, find angle 'y".
D P C

A ]

(i) 37° (ii) 36° (iii) 38° (iv) 39° (v) 40°

41. In the given figure, DEFG is a quadrilateral. QG and QF are bisectors of LG & £ZF meeting at Q. Find £ZFQG

D E
(i) 83.0° (ii) 87.0° (iii)) 85.0° (iv) 86.0° (v) 84.0°

42. In the given figure, EFGH is a rhombus. Given x = 58°, find the value of 'y".

H G
e

{
E F

(i) 33° (ii) 32° (iii) 34° (iv) 31° (v) 30°



In the given figure, CDEF is a parallelogram. CE bisects £C & LE.
" GivenCE = 12 cmandDF = 8 cm, findCD
F E

C D

(i) 5.21cm (ii) 7.21 cm (iii) 6.21 cm (iv) 9.21cm (v) 8.21cm

In the given figure, BCDE is a parallelogram. CE is the diagonal
" such that BE = CE = CD. Given ZB = 62°, find ZECD
E D

B C

(i) 54° (ii) 56° (iii) 57° (iv) 55° (v) 58°

In the given figure, CDEF is a parallelogram. CQ and ER are perpendicular to the diagonal DF. Given £QCD = 31°,
" find LEFD

C D

(i) 58° (ii) 61° (iii) 59° (iv) 60° (v) 57°

46. In the given figure, FGHI is a rhombus such that £G = 120°. Then AFGI is

| H
F G

(i) Isosceles triangle (ii) Obtuse angled triangle (iii) Right angled triangle (iv) Equilateral triangle




47. CDEF is a rhombus. N, O, P and Q are mid-points of sides CD, DE, EF and FC. Find £LOPQ
F P E

C D

(i) 92° (ii) 89° (iii) 91° (iv) 88° (v) 90°

48. In the given figure, HIJK is a parallelogram such that T is the mid-point of Hl and HI = 2KH. Find £KT]
K J

760 104°

H T I

(i) 90° (ii) 92° (iii) 89° (iv) 91° (v) 88°
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